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Q. no. 1 to 3 
A train starts from rest and accelerates uniformly at 100 m min 
–2 for 10 minutes. Find the velocity acquired by the train. It then  
maintains a constant velocity for 20 minutes. The brakes are  
then applied and the train is uniformly retarded. It comes to  
rest in 5 minutes. by a velocity time graph find the following – 
1. The retardation in the last 5 minutes – 
 (a)  200 m minute

–2
  

 (b)  100 m minute
–2

 
 (c)  150 m minute

–2
    

 (d)  300 m minute
–2

   
2. Total distance traveled – 
 (a)  27500 m  (b)  27600 m  
 (c)  2800 m    (d) 2900 m   
3. The average velocity of the train – 
 (a)  785.7 m minute

-1
  

 (b)  780.8 m minute
-1

 
 (c)  800 m minute

-1
  

 (d)  900 m minute 
-1

 

4.  Which of the following is the least? 

 (a) Static friction  

 (b) Sliding friction 
 (c) Rolling friction  
 (d) Limiting friction 
 5. When two plane mirrors are kept at 90o, we get: 
 (a) one    
 (b) Two   
 (c) Three    
 (d) Infinite  
6. A ball is dropped from top of a tower of 100 m height 

simultaneously another ball was thrown upward from 
bottom of the tower with a speed of 50 m/sec. (g = 10 

m/sec2). They will cross each other after –   
 (a)  1 sec   
 (b)  2 sec  
 (c)  3 sec   
 (d)  4 sec 
 

.1  3 
 ,d jsyxkM+h fojkekoLFkk ls çkjEHk gksrh gS rFkk 10 feuV dss fy;s  

100 ehVj feuV–2  ls ,dleku :i ls Rofjr gksrh gS rc jsyxkM+h 

}kjk çkIr fd;k x;k osx Kkr dhft;sA blds i”pkr~ ;g 20 feuV 

ds fy;s fu;r osx dks cuk;s j[krh gSA blds i”pkr~ czsd yxkus 

ij jsyxkM+h ,dleku :i ls eafnr gksrh gSA ;g 5 feuV esa 

fojkekoLFkk esa vkrh gSA osx&le; vkjs[k ls Kkr dhft;s%&   
1. vfUre 5 feuV esa eanu gS%& 

 (a)  200 ehVj feuV–2  

 (b)  100 ehVj feuV–2 

 (c)  150 ehVj feuV–2  

 (d)  300 ehVj feuV–2 

2. r; dh xbZ dqy nwjh gS%& 

 (a)  27500 m  (b)  27600 m  

 (c)  2800 m    (d) 2900 m 
3. jsyxkM+h dk vkSlr osx gS%& 

 (a)  785.7 ehVj feuV–1  

 (b)  780.8 ehVj feuV–1 

 (c)  800 ehVj feuV–1  

 (d)  900 ehVj feuV–1 

4. fuEufyf[kr esa ls dkSulk U;wure gS\ 

 (a) LFkSfrd ?k’kZ.k  

 (b) fQlyu ?k’kZ.k  

 (c) yq<+du ?k’kZ.k   

 (d) lhekUr ?k’kZ.k

5. tc nks lery niZ.kksa dks 90o ij j[kk tkrk gS rc ge 

çfrfcEc çkIr djrs gS%&   

 (a) ,d    

 (b) nks   

 (c) rhu   

 (d)  vuUr  

6. 100 ehVj Å¡pkbZ ds ,d VkWoj dh Åijh lrg ls ,d xsan dks uhps 

fxjk;k tkrk gS rFkk mlh le; ry ls ,d vU; xsan dks Åij dh 

vksj 50 eh@lS- QSadk tkrk gS rc os fdrus le; i’pkr~ ,d&nwljs 

dks feysaxs\ ¼;gk¡ g = 10 eh@lS-2½  
 (a)  1 lS  (b)  2 lS   
 (c)  3 lS  (d)  4 lS  
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7. A wagon weighing 1000 kg is moving with a velocity 50 
km/h on smooth horizontal rails. A mass of 250 kg is 
dropped into it. The velocity with which it moves now is –  

 (a) 2.5 km/hr  (b) 20 km/hr   
 (c) 40 km/hr  (d) 50 km/hr 
8. A body of mass 2 kg moving on a horizontal surface with an 

initial velocity of 4 m/sec comes to rest after 2 sec. If one 
wants to keep this body moving on the same surface with a 
velocity of 4 m/sec, the force required is –  

 (a) 8 N   (b) 4 N  
 (c) Zero      (d) 2 N    
9. A positively charged ion is called 
 (a) Atom  (b) Anion 
 (c) Cation  (d) Neutral ion 

10. The Ist model of an atom was given by - 
 (a) N. Bohr  (b) Goldstein 
 (c) Rutherford  (d) J.J. Thomson 
11. An atom with 3 protons & 4 neutrons will have a valency  
 (a) 3   (b) 7   
 (c) 1    (d) 4 
12. Which of the following has maximum number of atoms- 
 (a) 18 gm of H

2
O  (b) 18 gm of O

2
 

 (c) 18 gm of CO
2
  (d) 18 gm of CH

4
 

13. Based on which of the following change is an indicator 

useful- 

 (a) Colour  (b) Physical state 

 (c) Temperature  (d) Pressure 

14. A mixture of sulphur & CS
2
 is-  

 (a) heterogenous & shows Tyndall effect 
 (b) homogenous & shows Tyndall effect 
 (c) heterogenous & donot shows Tyndall effect 
 (d) homogenous & shows Tyndall effect 
15. When iron & sulphur are heated together formed  
 (a) FeS

2
  (b) FeS   

 (c) FeSO
4
  (d) Fe

2
(SO

4
)

3 

16. which of the following sedimentation will not take place- 
 (a) Sulphur + Water   
 (b) Fine sand + Water 
 (c) Soil + Water   
 (d) Albumin + Water 
17. The property to flow is unique to fluids which one of the 

following statement is correct- 
 (a) Only gases behave like fluids 
 (b) Gases & solids behave like fluids  
 (c) Gases & liquids behave like fluids 
 (d) Only liquids are fluids 
18. The boiling points of diethylether, acetone & n-butyl 

alcohol are 35°C, 56°C & 118°C respectively . Which one of 
the folloiwng correctly represents their boiling points in 
Kelvin scale-  

 (a) 306 K, 329 K, 391 K    
 (b) 308 K, 329 K, 392 K 
 (c) 308 K, 329 K, 391 K   
 (d) 329 K, 392 K, 308 K  

7. 1000 fdxzk Hkkj dh ,d ekyxkM+h fpdus {kSfrt iVfj;ksa ij  

50 fdeh@?kaVsa ds osx ls xfr’khy gSA ;fn 250 fdxzk æO;eku dks 

blesa j[kk tk;s rc vc og fdl osx ls xfr’khy gksxk\  

 (a)  2.5 fdeh@?kaVk  (b)  20 fdeh@?kaVk  
 (c)  40 fdeh@?kaVk  (d)  50 fdeh@?kaVk  

8. 2 fdxzk æO;eku dk ,d fi.M ,d {kSfrt lrg ij çkjfEHkd osx  4 

eh@lS- ls xfr’khy gS rFkk ;g 2 lSd.M i’pkr~ fojkekoLFkk esa 

vkrk gSA ;fn dksbZ pkgrk gS fd leku lrg ij ;g fi.M 4 

eh@lS- osx ls xfr’khy gks rc vko’;d cy  
 (a)  8 N   (b)  4 N  
 (c)  Zero      (d)  2 N   

9. ,d /kukRed vkosf kr vkW;u dgykrk gS%& 

 (a) ijek.kq  (b) _.kk;u  
 (c) /kuk;u       (d) mnklhu vkW;u

10. ,d ijek.kq dk çFke çfr:i fn;k x;k Fkk%& 

 (a) ,u- cksj   

 (b) xksYMLVhu  

 (c) jnjQksMZ    

 (d) ts-ts- FkkWelu  

11. 3 çksVkWuksa rFkk 4 U;wVªkWuksa ;qä ,d ijek.kq dh la;kstdrk gS%& 

 (a) 3  (b) 7  

 (c) 1  (d) 4 

12. fdlesa ijek.kqvksa dh la[;k vf/kdre ik;h tkrh gS\  

 (a) 18 xzke H2O (b) 18 xzke O2 

 (c) 18 xzke CO2 (d) 18 xzke CH4 

13. dkSulk ifjorZu ,d lwpd ds fy;s ykHknk;d gS\ 

 (a) jax esa   

 (b) HkkSfrd voLFkk esa  

 (c) rkieku esa   

 (d) nkc esa  

14. lYQj rFkk CS2 dk ,d feJ.k gS%& 

 (a) fo’kekaxh rFkk fV.My çHkko n’kkZrk gSA  

 (b) lekaxh rFkk fV.My çHkko n’kkZrk gSA  

 (c) fo’kekaxh rFkk fV.My çHkko ugha n’kkZrk gSA  

 (d) lekaxh rFkk fV.My çHkko n’kkZrk gSA 

15. tc yksgs rFkk lYQj dks ,d&lkFk xeZ fd;k tkrk gS rc 

fuÆer mRikn gS%& 

 (a) FeS2  (b) FeS  

 (c) FeSO4  (d) Fe2(SO4)3 

16. fuEufyf[kr esa ls fdlesa volknu ugha gksxk\ 

 (a) lYQj + ty (b) ckjhd jsr + ty  

 (c) e`nk + ty  (d) ,sYC;wfeu + ty  

17. æoksa ds vf}rh; xq.k ds çokg ds lEcU/k esa fuEufyf[kr esa ls 

dkSulk dFku lR; gS\ 

 (a) dsoy xSlsa æoksa ds leku O;ogkj djrh gSA  

 (b) xSlsa rFkk Bksl æoksa ds leku O;ogkj djrs gSA  

 (c) xSlsa rFkk æo] æoksa ds leku O;ogkj djrs gSA  

 (d) dsoy rjy æo gSA  

18. Mkb,sfFky bZFkj] ,slhVksu rFkk n–C;wfVy ,sYdksgkWy ds DFkukad 

Øe’k% 35°C, 56°C rFkk 118°C gSA fuEufyf[kr dkSulk muds 

DoFkukadksa dSfYou iSekus ij lgh :i ls fu:fir djrk gS\ 

 (a) 306 K, 329 K, 391 K  (b) 308 K, 329 K, 392 K 

 (c) 308 K, 329 K, 391 K  (d) 329 K, 392 K, 308 K 
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19. What must be administered to someone who has been 
stung by an ant. 

 (a) NaHCO3  (b) CH3 COOH  
 (c) H2O  (d) None  
20. Identify the acid base reaction from the following- 
 (a) NaCl + H

2
O   NaCH + HCl 

 (b) CaCO
3
 + H

2
O   Ca(OH)

2
 + CO

2
 

 (c) NaOH + HCl   NaCl + H
2
O 

 (d) CuSO
4
 + Zn   ZnSO

3
 + Cu 

21. What happens when steam get condensed  
 (a) A new substance is formed  
 (b) No new substance is formed  
 (c) Water get converted from vapour phase to liquid 

phase. 
 (d) Both (b) & (c) 
22. Select the correct statement 
 (a) Crystallization is a chemical change 
 (b) Digestion is a chemical change 
 (c) Buring of paper is a temporary chemical change 
   (d)  Reversible change is always chemical 

23. The value of  is:   

 (a) 3  (b) 9   

 (c) 7   (d) 5  

24. (16
0.16

 × 2
0.36

) is equal to – 

 (a) 2  (b) 16   

 (c) 32  (d) 64  

25. n is the number such that n × n = n + n, how many such 

numbers are there : 

 (a) Zero  (b)1  

 (c) 2  (d)3  

26. What percentage of body’s weight is made up of  

muscles ......................: 

 (a) 10 %   (b) 60 % 

 (c) 40 %   (d) 70% 

27. The set of negative integers is closed with respect to : 

 (a) Addition  (b) Multipy  

 (c) Both  (d) Division 
28. Four bells toll at interval of 6, 8, 12 and 18 seconds.  

If they begin to toll at 12 together, the least time after that 

they will again toll together is : 

 (a) 1 .12 sec   

 (b) 1 . 15 sec  

 (c) 1 . 20 sec   

 (d) None  

29. A Cabdriver’s salary Consists of his salary and tips.  

During one week his tips were  of this salary. What portion 

of his income came from tips – 

 (a) 4/9  (b) 1/2   

 (c) 5/9  (d) 5/8  

19. ,d phaVh ds Mad ekjus ij fuEufyf[kr esa ls dkSulk  

mi;ksxh gS\ 

 (a) NaHCO3  (b) CH3 COOH  

 (c) H2O  (d) dksbZ ugha  

20. fuEufyf[kr esa ls vEy&{kkj vfHkfØ;k dks igpkfu;s\ 

 (a) NaCl + H
2
O  NaCH + HCl 

 (b) CaCO3 + H2O  Ca(OH)2 + CO2 

 (c) NaOH + HCl  NaCl + H2O 

 (d) CuSO4 + Zn  ZnSO3 + Cu 

21. ok’i ds la?kfur gksus ij D;k gksxk\ 

 (a) u;s inkFkZ dk fuekZ.k gksxkA  

 (b) dksbZ u;k inkFkZ ugha cusxkA  

 (c) ty okLiZ çoLFkk ls æo çkoLFkk esa :ikarfjr gks tk;sxkA 

 (d) mijksä nksuksa (b) rFkk (c) 

22. lR; dFku dk p;u dhft;s%& 

 (a) fØLVyhdj.k ,d jklk;fud ifjorZu gSA  

 (b) vip;u ,d jklk;fud ifjorZu gSA  

 (c) dkxt dk tyuk ,d vLFkk;h jklk;fud ifjorZu gS 

 (d) mRØe.kh; ifjorZu lnSo jklk;fud gS 

23.   

 (a) 3  (b) 9   

 (c) 7  (d) 5  

24. (160.16 × 20.36)  

 (a) 2  (b) 16   

 (c) 32  (d) 64  

25. n n × n = n + n 

 

 (a)   (b) 1   

 (c) 2  (d) 3 

26. kjhj ds Hkkj dk -------------- çfr kr isf k;ksa ls cuk gksrk gSA 

 (a) 10 %       (b) 60 %        

 (c) 40 %       (d)dksbZ ugha 

27. _.kkRed iw.kk±dksa dk leqPp; fuEufyf[kr esa ls fdlds lkis{k 

ifjc) gksxk%& 

 (a) ;ksx   

 (b) xq.ku  

 (c) nksuksa    

 (d) HkkxQy  

28. 44. pkj ?kf.V;k¡ vUrjky 6, 8, 12 rFkk 18 lSd.Mksa ij ctrh 

gSA ;fn osa 12 ctsa ,d&lkFk ctuk çkjEHk djrh gS rc 

U;wure fdrus le; ckn og iqu% ,d&lkFk ctsxh\ 

 (a) 1 .12 lS  (b) 1 . 15 lS  

 (c) 1 . 20 lS  (d) dksbZ ugha 

29. 

 

 (a) 4/9  (b) 1/2   
 (c) 5/9  (d) 5/8 

5 11 19 29 49
5 11 19 29 49
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30. Sides of equilateral triangle are (2a–b) cm,  

(a + 3b) cm and (2a – 2b + 1) cm, then perimeter of 

triangle is : 

 (a) 3 cm   (b) 12 cm  

 (c) 15 cm  (d) 21 cm 

31. The numbers P, P + 2, P + 4 are all primes if P is equal to: 

 (a) 3  

 (b) 5   

 (c) 29   

 (d) 191  

32. If a, b, c ....... x, y, z are 26 natural numbers than the value 

of  (x – a) (x – b) ......... (x – y) (x – z) is :   

 (a) Zero   (b) 1   

  (c) 13  (d) 26 

33. The set of negative integers is closed with respect to : 

 (a) Addition   

 (b) Multiplication  

 (c) Both (a) & (b)  

 (d) Division 

34. Which is not an example of kharif crop? 

 (a) Gram   

 (b) Paddy  

 (c) Cotton        

 (d) Ground nut 

35. DPT vaccine is given to immunize the children 

 (a) Diphtheria  (b) Pertussis 

 (c) Typhoid  (d) All the above 

36. The animal of endemic species is : 

 (a) Flying squirrel (b) Tiger  

 (c) Pink huged duck (d) Dodo 

37. The smallest cell is : - 

 (a) Egg of ostrich  

 (b) Pleuro pneumonia 

 (c) Nerve cell  

 (d) Amoeba 

38. Which one is not a source of carbohydrate? 

 (a) Rice  

 (b) Millet  

 (c) Sorghum  

 (d) Gram 

39. Organelle other than nucleus containing DNA is  

 (a) Endoplasmic reticulum  

 (b) Mitochondria 

 (c) Golgi apparatus  

 (d) Lysosome 

40. Contractile proteins are found in 

 (a) Bones  

 (b) Blood  

 (c) Muscles  

 (d) Cartilag  

30. ,dleckgq f=Hkqt dh Hkqtk;sa (2a – b) lseh] (a + 3b) lseh rFkk 

(2a – 2b + 1) lseh gS rc f=Hkqt dk ifjeki gS%& 

 (a) 3 lsseh   

 (b) 12 lsseh  

 (c) 15 lsseh   

 (d) 21 lsseh 

31. la[;k;sa P,  P + 2, P + 4 lHkh vHkkT; gksxh ;fn P cjkcj gks%& 

 (a) 3  (b) 5   

 (c) 29  (d) 191  

32. ;fn 26 çkÑfrd la[;k;sa a, b, c ....... x, y, z  gS rc   

 (x – a) (x – b) ......... (x – y) (x – z) dk eku gS%& 

 (a) 'kwU;   (b) 1   

 (c) 13  (d) 26  

33. _.kkRed iw.kk±dksa dk leqPp; fuEufyf[kr esa ls fdlds 

lkis{k ifjc) gksxk%& 

 (a) ;ksx  

 (b) xq.ku   

 (c) nksuksa  

 (d)  HkkxQy 

34. fuEufyf[kr esa ls dkSulk jch Qly dk ,d mnkgj.k  

ugha gS\ 

 (a) puk   (b) pkoy   

 (c) dikl   (d) ew¡xQyh 

35. fuEufyf[kr esa fdlls çfrj{kk ds fy;s cPpksa dks DPT Vhdk 

yxk;k tkrk gS\ 

 (a) fM¶Fkhfj;k ¼xy?kksaVw½   

 (b) dkyh [kk¡lh  

 (c) vkarToj ¼VkWbQkbM½   

 (d) mijksä lHkh  

36. LFkkfud çtkfr dk tUrq gS%& 

 (a) mM+u fxygjh   

 (b) phrk 

 (c) xqykch fo'kky cÙk[k   

 (d) MksMks  

37. lcls NksVh dksf'kdk gS%& 

 (a) 'krqeqxZ dk v.Mk   

 (b) Iywjks U;weksfu;k  

 (c) raf=dk dksf'kdk   

 (d) vehck  

38. fuEufyf[kr esa ls dkSulk dkcksZgkbMªsV dk Lkzksr ugha gS\ 

 (a) pkoy   (b) cktjk   

 (c) Sorghum  (d) puk  

39. dsUæd ds vfrfjä vU; dksf'kdkax dkSulk gS] ftlesa DNA  gksrk gS 

 (a) varæZO;h tkfydk   

 (b) ekbVksdkWfUMª;k¡  

 (c) xkWYth midj.k   

 (d) yk;lkslkse  

40. ladqpu'khy çksVhu fuEufyf[kr esa ls fdlesa ik;s tkrs gS\ 

 (a) vfLFk;k¡    

 (b) jä   

 (c) isf'k;k¡   

 (d) mikfLFk    


